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5 « Reactions in Aqueous Solution
Station 1 - ACIDS, BASES, AND NEUTRALS

Classify each statement as talking about an [A]cid, [B]ase, or [N]eutral.
ok, et not OH™
CH,OH p0 s 0@, ot baoae

turns “phenol red solution” yellow

feels slippery
tastes sour
KOH increases [OH']
increases [H']

H,SO5
NaHCO, Sedkun biear bowate

HCOy™ ++ho 22 thioy+ 047

turns cabbage juice red

tastes bitter

ddudaly
dddidas

cabbage juice stays purple

Hint: only one of these is neutral.
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5 « Reactions in Aqueous Solution
Station 2 - SOLUBILITY RULES

Circle the ionic compounds that a.e. circle the precipitates):

CuFy oSO, D | BaloH),

NHOH SHNOY), CHgli > | MO,

URIGIS
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5 « Reactions in Aqueous Solution
Station 3 - WRITE THE IONIC EQUATION
For the following molecular equations, write the ionic equation and underline out the spectators:
weale

HF + NaOH — NaF + H,O
HE + Not # o™ — Nat + F7 + HO
T _

CuSO; + SH(NOy), —> Cu(NOy), + StSO,
Cu® + So‘f -+ S 2NG" — CuZt + 2NO0; "+ SVS%)

2HCl + BaSO; — BaCl, + H,0 + SO,
2H" + 27 + BaSO;,, = Ba #2087 + HeOpyy + SOy,
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5 « Reactions in Aqueous Solution
Station 4 - PREDICT THE PRODUCTS

Predict the products in these molecular equations. Indicate (s), (1), (g), or (aq):

CusO; + HF > |.p @ * SOz¢g) + CAF’Z“Z)

Ca(NO3), + (NHy),S04 — CQSOQ (s) o N“'q N()s (46)

weal

HCl + Zn(CH;02): — 2 ille HCL(—(;O“‘,%) + Z-nCﬁ;_ag)
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Soetion 5 - MANING A0IDS

Fill in this chart:
Anion name Anion formula | Acid formula Acid name
cyanide CN” ke Wydrocqam L aci
chlorate U 01" oo, chlovic aaud
hypochlorite Qo ~ HAUO Mp oehlprous awd
sulfide 3%~ H. S hydrosul Lurce acick
sulfate SO4* | 4SOy sulfuric acd
sulfite S 0,2 H2S01 | sulbuvous awd
nitrate N0y~ WNOa wbre awd
acetate | Coby 0, |[HGH0) | acedre acich
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5 « Reactions in Aqueous Solution
Station 6 - RECOGNIZING OXIDATION-REDUCTION

For eack staremens, classify the change of the underlined elemeont a5 {Olxidagion, [Risduniion, or [NJeither:

O > it 2e 60— +2
R AP+ 3 > A ¥3 — ©

O Tow - Co, 4 — 4

N NaOH + HCl - NaCl + H,O -2 — -2
_®  gaining electrons GeR

e oxidation number increases

B Zn® + 2HCl - ZnCL + H, +l —©
R Mg+ %0, > MgO o 2
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5 « Reactions in Aqueous Solution
Btation ¥ - CHIDATION NUMBERS

Determine the oxidation number of the underlined element:

+7 e -3 +4
Mgk, CuSO, NHA CO,
g # 2ot O a2 » xi4l-t)d neglrerl| xe22)=0
+ e 5 -
AgCl Cr0;” ClOy’ SiH,
k)= O Be w1033 =2 | meglealw ~i Yt 4(e) 20
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5 « Reactions in Aqueous Solution
Sation § - MOLARITY PROBLENS

Solve the following problems:

_o. So0 kL
A 2.00 mole sample of NaOH is dissolved in enough water to make 500. mL of solution. What is the
concentration of the solution?

&—, 2°°M “.00 M

.Soul.

60.0 grams of NaOH (MM = 40.00 g-mol™) is dissolved in enough water to make 0.750 L of solution. What is
the concentration of the solution?

we LOO3 aoc  [200n

o, I8 e L
A 250, ml sample of & .125 M solution of NaOH countains grams of NaOH.
260, mly oy iS5l 4o.0gMaol 1 25, Nacd
: ¥ ooo wt | L L med NaOH
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5 « Reactions in Aqueous Solution
Station 9 - DILUTIONS AND STOICHIOMETRY

Show your work for these problems:

Vou Ve
You need to make 2.00 L of 0.200 M HCI. (2.60!—)(‘20%\ =y Cll-(aS tl)

‘What volume of concentrated HCl (11.65 M) should you dilute? ___

oL) (200 | :M - '
A= @00"‘5)!)% 0.6343 L= |34.3ul

Given the equation: ALOs(s) + 6 HCl(aq) — 3 H,O(l) + 2 AlCls(aq)
What volume of 0.250 M HCl is needed to completely react with 25.0 grams Al,O3 (MM =101.96 g-mol’ b

HL
25.04 Alp 0y \mut AkOy lo_mot b2 b MK e
g7 m\.%é ¢ | mot AleO3  0.250 mh HO Lice




